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1. Why did the Physiocrats and Adam Smith advocate a policy of laissez faire?

Both Smith and the physiocrats believed there exists a ‘natural order’ for the market place and industry.  For industry, this meant if something needed to get done, it would get done and if resources needed to be allocated, they would be.  For the market place, this meant a product will have a ‘natural price’ for which consumers will buy it for and for which manufacturers can produce it.
2. What are the major differences between the physiocrats and Adam Smith?

The physiocrats believed property (land) was the primary source of wealth; Smith believed manufacturing (industry) was.  
3. What did Malthus believe that human progress would not result in poverty disappearing?
He believed that the world was inevitably over-populated.  He believed if you help those who are in poverty, the end result is them reproducing more which thereby increases population.  This increase only serves to put more in poverty as resources were never abundant.
4. What did Malthus mean by arithmetic and geometric increase?
Population grows geometrically meaning every generation doubles in size (in general, some number to an Nth power for the Nth generation). 

Food supply was more arithmetic, meaning each year a supply would grow by a constant number (in general, a number multiplied by N, for the Nth generation).

5. Was Malthus a pessimist or a realistic?
(Opinion) I would say he was a pessimist but pessimism seems to be the realistic approach to such trends as overpopulation.
